Aesson 5.1 & 5.2 Review Worksheet Name: Y,E \/

Evaluate the expression. Write your answer using exponents and as a simplified fraction. NO DECIMALS.
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oSimpIify the expression. Evaluate all powers with numerical bases. NO DECIMALS.
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‘Write an expression for the figure’s area or volume in terms of x.
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Decide whether the function is a polynomial function. If so, write it in standard form and state its degree,
type, and leading coefficient. If it is not a polynomial, explain why.
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. “21.) g(x) = =6.25x — 4x? + £x3 - 10x* \\I\’ 9 l 22)) j(x) = x* + 12% — 4x? ?fb:/ Y\TG_\
OF - g(x)= -10x"+ 5x*- 4%~ 25x
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Use direct substitution to evaluate the polynomial function for the given value of x.
23) f(x)=6x*—x3+3x2-5x+9; x=-1 4.) ,g(x)=7x—x“+1;x=-4 J
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Use synthetic substitution to evaluate the polynomial function for the given value of x.

25) f(x)=7x*=3x3 +x2 +5x~-9; x =2 26.) f(x)=x3—-8x+6; x=-3
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27)h(x) =x*+3x—-20; x=4 28) f(x)=-3x"+6x3—x; x=—4
411 0 0 3 -0 41309 0 -1 0
VIR S A ) AR Y S T I
g e b7 (248 5 12 AT Ty (2642

e

C

Scanned by CamScanner



Describe the end behavior of the graph of the polynomial function by completing the statements. (Hint:
Sketch a general picture of the graph to help).
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